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ERNE (DF20mm) 979.00M
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1~10m*  10m’X 62.70/= 627.001
11~20m*  10m*X165.00A3= 1,650.00F3
21~24m’ 4m* X 268.40F= 1,073.60F3

5t 4,329.60M = 4,320M
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AR E (OF20mm) 979.00/9
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13 mm 41800 M
20 979.00
25 1,749.00
40 6,985.00
50 15,840.00
75 36,410.00
100 70,290.00
150 195,360.00
200 396,000.00
250 705,100.00
\_ 300 1,129,700.00 J
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fEFKRE (—#H) B4 Andico X)
1~10 m 6270 M
11~20 165.00
21~40 268.40
41~100 358.60
101~500 444 40

501 Wk 485.10
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1~10m? 10m*X 62.70=627.00F
11~20m? 10m*X165.00F= 1,650.00F
21~25m? 5m?* X 268.40M= 1,342.00M

en 4,598,003 = 4,590/

KERE 4320+4,590M= 8910M
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